FRISEE

B LTI DK,
S J =1 FEIERY gy
5 2 Bixim - COD#E! |AGGHBIR) %%g?UT?gﬁ_ﬁ
St.1 EFR-SEE I EHEDR) REKEREEE (=)
—RIEE _
Kig (°C)
Xz %R (°C) =RE P E 2KE il iR =Xz R
5Al EYrE4/M| 235 20.9 — 8.5 5.0 BE k- &S
78|2vscin| 241 24.4 - 9.0 3.0 BE k- &R
98| ®BEh 29.6 27.9 — 8.5 2.5 BE BEikf-h| &S
18] Bh 19.0 18.1 - 7.0 35 BE k- &S
18] Bh 14.0 13.0 - 7.0 5.0 BE &% mR
3Al =Y 7.8 11.3 - 6.0 5.0 BE | St #®E
4FRRIFIER
oH DO COD |XBEHHE |h-~FHUH 2L=TX EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EE(E]| 78~83] 75LF | 20LIF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EHIE(75%1E) - 7.7 2.3(2.7) - <0.5 0.75 0.039
55 == 8.2 6.7 1.9 - <0.5 0.25 0.020
hE - - - - - - -
78 EAE 8.2 7.8 3.4 - <0.5 0.74 0.034
= 8.2 6.4 1.1 - <0.5 - -
118 == 7.8 8.9 2.4 - <0.5 1.0 0.030
hE - - - - - - -
1A == 8.0 7.7 2.7 - <0.5 1.0 0.071
= 8.1 8.5 2.1 - <0.5 - -
38 i = - - — = — —
BEIEE (REDHEHAD
N INESIS S o) ANEivoL| #ME #ikeE |7rxLkiE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LATF | JE#EH JERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
yOni| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY | AaxTFLY (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #E{E] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LLF
S'Z - - - - - - - -
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




FhSo00(1,3-40 = . N ~3 TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
718 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - = = - - -
ZTDhIFE
Jx/—)L V) SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EBIE - - 2 - - -
=E - - 1 - - -
5R ; E — — — — — —
=] _ _ 3 _ _ _
78 ; E — — = — — —
=] _ _ 3 _ _ _
9AR ; E — — = — — —
= - = <1 - - -
= - = <1 - - -
e —— : '
= - = <1 - - -
3R g — - = — — —
alch | BEEE | ommne
(mg/1) (mg/1) (mg/1)
EHB| 13000 = 0.03
5H %E | 17000 - 0.01
B 7000 - 0.03
B | 18000 - -
B 2400 - 0.03
A Tam - - -
- %E | 15000 - 0.06
= 16000 - -
3R g = — -




TR ISERE
BA L CEoKE
b y HE ik ERUHERE RS
5 2 Bixim - COD#E! |A(E#ER) %%g?glUEE?%ﬁ_ﬁ
St.2 EFR-BEE I ER) FRKEREEE (=)
—RIEE _
K= (°C)

XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
5A| Y4/ | 234 20.4 - 11.0 8.0 BE Eixa-p| ®|E
78|28V cmiEn| 236 24.3 - 13.0 4.5 BE k- &R
98 BEh 30.4 28.0 — 12.0 5.0 BE Hixf-h| BER
118 BEh 19.0 22.9 — 16.0 6.5 BE k- &S
18 BEh 14.7 14.0 — 11.5 7.0 BE -t mR
3l =Y 7.8 11.7 - 10.5 6.0 BE | HEgf-dh| O #EER

4FRRIFIER
oH DO COD |XBEHHE |h-~FHUH 2L=TX EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83] 75LLE | 20LLF | 100051 F | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 7.4 1.1(1.2) 120 <0.5 0.12 0.010
58 == 8.3 7.2 1.7 - <0.5 0.10 0.005
hE - - - - - - -
78 == 8.2 7.6 1.0 230 <0.5 0.10 0.009
= 8.3 6.6 1.2 - <0.5 - -
SR hE - - - - - - -
115 == 7.9 7.1 1.2 - <0.5 0.14 0.015
hE - - - - - - -
1A == 8.2 8.2 0.7 0.0 <0.5 0.15 0.010
= 8.1 7.4 1.0 - <0.5 - -
3A i = = = — — — —
BEIEE (REDHEHAD
LIS INESS S & ANEYRL|  #MFE kR |7L*LkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
vonni | mide [1,2-0900(1,1-SHan [L2-1.2-24(1,1,1-kJ90( 1,12-kyoa | FUo0OA

Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF

E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Th3o0a0(1,3->9n — . s FARY TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02LLF | 0.01LLF 0.01LLF 10ELF
oo <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.05

5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
;] - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.08
3H - - — — — - - -
ZTDHIEE
Jx/—)L V) SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHEl - - i - - -
RE - - <1 - - -
=] _ _ 1 _ _ _
=] - - <1 - - -
9AH ; E — — — ~ _ _
=] - - <1 - - -
=] - - <1 - - -
=] - - <1 - - -
A —HE - - . - - -
-t (4] BN . .
(mg/1) (mg/1) (mg/1)
EBIE|] 18000 0.02 0.01
58 E3E] 19000 - <0.01
/g - - -
78 AL 18000 <0.01 <0.01
= 18000 - -
9AH ; E — — —
= 18000 - 0.01
118 th — — =
18 AL 18000 0.03 <0.01
= 17000 - -
A g 0 - =




TR ISERE
B L CIE DK,
S J #H FEIERY gy
5 B - COD#EH! |A(H#EH) %%g?UT?gﬁjﬁ
St.3 EFR-BEE I ER) FRKEREEE (=)
— iR E _
K= (°C)

XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
5A| Y4/ | 224 20.7 - 19.5 9.0 BE Eixa-p| ®|E
78| 2ves<En| 228 25.1 - 24.0 5.0 BE k- &R
98 BEh 29.6 27.3 — 22.0 9.0 BE - mR
118 BEh 19.0 22.2 — 25.5 10.0 BE k- &S
18 BEh 14.6 14.1 — 20.0 12.0 BE k- mR
3l =Y 1.6 12.2 - 17.5 6.0 BE | HEgf-d| O #R

4FRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= %(8| 7.8~83] 75LLE | 20LLF | 1000LLF | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) — 7.6 1.5(1.7) 0.0 <0.5 0.13 0.012
58 == 8.3 7.6 1.6 - <0.5 0.12 0.008
hE - - - - - - -
78 == 8.2 7.7 1.8 0.0 <0.5 0.13 0.010
= 8.3 6.6 0.7 - <0.5 - -
SR hE - - - - - - -
118 == 8.0 7.2 0.8 - <0.5 0.17 0.015

hE - - - - - - -

1A == 8.2 7.7 1.0 0.0 <0.5 0.09 0.013
= 8.1 8.5 0.9 - <0.5 - -
3A i = - = — — — —
BEIEE (REDHEHAD
LIS INESS S & ANEYRL|  #MFE ke |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4on [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA

Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF

E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Th3o0a0(1,3->9n — . sea FARY TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02LLF | 0.01LLF 0.01LLF 10ELF
oo <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.06

5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
;] - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
3H - - — — — - - -
ZTDHIEE
Jx/—)L V) SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHEl - - i - - -
RE - - <1 - - -
=] _ _ 2 _ _ _
=] - - <1 - - -
9AH ; E — — — ~ _ _
=] - - <1 - - -
=] - - <1 - - -
=] - - <1 - - -
A —HE - - . - - -
-t (4] BN . .
(mg/1) (mg/1) (mg/1)
EBIE] 18000 0.02 0.01
58 E3E] 19000 - <0.01
/g - - -
78 AL 18000 <0.01 <0.01
= 18000 - -
9AH ; E — — —
= 17000 - 0.01
118 th — — =
18 AL 18000 0.03 0.01
= 18000 - -
A g 0 - =




FRISEE

B L CIE DK,

S J =1 FEIERY gy

5 2 Bixim - COD#E! |AGGHBIR) %%g?UT?gﬁ_ﬁ
St.4 EFR-BEE I ER) RFRKEREREE (=)
—RIEE _
K& (°C)

XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
5A| EYE4m ]| 23.0 20.6 — 17.0 9.0 BE - mR
78|82V ciEn| 222 25.2 - 23.0 6.0 BE k- &R
98 Bh 29.2 28.0 — 21.0 12.0 BE - mR
118 BEh 19.0 22.6 — 19.0 9.0 BE k- &S
18 BEh 14.8 14.2 — 18.0 12.0 BE xE-h mR
3H £ 7.8 11.6 — 15.5 55 B k- &R

4FRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 75LF | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EHIE(75%1E) - 7.5 1.2(1.3) - <0.5 0.15 0.022
58 == 8.3 7.6 1.3 - <05 0.12 0.041
hE - - - - - - -
78 == 8.3 7.4 1.2 - <0.5 0.10 0.016
= 8.3 6.5 15 - <0.5 - -
118 == 8.0 7.0 1.0 - <0.5 0.26 0.017
hE - - - - - - -
1A == 8.2 7.6 0.8 - <0.5 0.11 0.012
= 8.1 8.9 1.3 - <0.5 - -
3R i - = = — = — —
BEIEE (REDHEHAD
NP INESS S ) ANfivoL| ME #ixksE [7rxrLkéR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
ynni| miEke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY | AaxTFLY (= ok 3 oxsy IFLY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF

S'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R - - - - - - - -




FhSo00(1,3-40 = s seq ~2 TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
718 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 = - - - - - - -
38 - - - - = - - -
ZDHhIFE
Jx/—)L V) SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHEl - - i - - -
RE - - <1 - - -
e —— : '
B — — 1 — — _
. —— : '
=] — — 1 — — _
= - - <1 - - -
118 ;E — — — — — —
= - - <1 - - -
= - - <1 - - -
3R g — - = — — —
alch | BEEE | ommne
(mg/1) (mg/1) (mg/1)
FEHBE| 18000 = 0.02
5H %E | 19000 - 0.03
® | 18000 - <001
B | 18000 - -
® | 18000 - 0.01
"R Tam [ - - -
- %E | 18000 - <001
= 18000 - -
3R g ~ - -




TR ISERE
B L CIE DK,
] % SR ERUHR LS
5 2 Bixim - COD#E! |A(E#ER) %%g?glUEE?%ﬁ_ﬁ
St5 EFR-BEE I ER) FRKEREEE (=)
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
5Al EYE4m| 228 20.2 — 16.0 9.0 BE k| &S
78|82V ciEn| 226 24.3 - 20.0 6.0 BE k- &R
98 BEh 29.2 27.7 — 22.0 9.0 BE - mR
118 BEh 19.0 23.6 — 17.5 75 BE k- &S
18 BEh 14.5 14.0 — 15.5 11.0 BE xE-h mR
3l =Y 8.2 11.9 - 17.5 5.5 BE | Fikf-dh| #R
4FRRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= %(8| 7.8~83] 75LLE | 20LLF | 1000LLF | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 7.5 1.5(1.5) 0.0 <0.5 0.11 0.010
58 == 8.3 7.9 15 - <0.5 0.12 0.011
hE - - - - - - -
78 == 8.3 7.6 1.3 0.0 <0.5 0.10 0.007
;E 8_3 6_4 2_3 - <6 - -
= . . . - 5 - -
118 == 8.0 6.8 1.3 - <0.5 0.11 0.011
hE - - - - - - -
1A == 8.2 8.0 1.1 0.0 <0.5 0.11 0.012
;E 8_1 8_4 1_2 - <6 - -
= . . . - 5 - -
3A i = - - — — — —
BEIEE (REDHEHAD
LIS INESS S & ANEYRL|  #MFE ke |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
vonni | mie [1,2-0900(1,1-CHan [L2-1.2-24(1,1,1-k)90( 1,12-ky50 | FUo0OA
Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Th3o0a0(1,3->9n — . sen FARY TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02LLF | 0.01LLF 0.01LLF 10ELF
oo <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.04

5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
;] - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.06
3H - - — — — - - -
ZTDHIEE
Jx/—)L V) SS 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - i - - -
RE - - <1 - - -
=] _ _ 2 _ _ _
=] - - <1 - - -
i —— G : : -
=] - - <1 - - -
=] - - <1 - - -
=] - - <1 - - -
A —HE - - . - - -
-t (4] BN . .
(mg/1) (mg/1) (mg/1)
EBIE|] 18000 0.02 <0.01
58 E3E] 19000 - <0.01
hE - - -
78 AL 18000 <0.01 <0.01
= 18000 - -
= 18000 - <0.01
118 th — — —
18 AL 18000 0.03 <0.01
= 18000 - -
3H B 0 - -




FRISEE

B L CIE DK,
5 2 B - CODEH |A(##Bh =) FHERERVHERBRZEE
St.6 [EFR-BEE I (EER) ReFRKEREEE (Z)
—iRIEE _
K= (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
5Al EYEAm ]| 21.2 20.8 — 29.0 10.0 BE - mR
7Bl2vEaEn] 220 25.7 — 29.5 45 BE - mR
98 BEh 29.0 27.6 — 28.0 13.0 BE 5 mR
118 BEh 18.9 22.7 — 32.0 13.0 BE 5 mR
18 BEh 14.0 13.5 — 27.0 12.0 BE 5 mR
3l =Y 7.2 13.0 - 29.0 9.0 BE | Fkf-dh| #ER
4FRIFIER
oH DO COD |XBEHH |h-~FHUH 2=TX EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EE(E| 78~83] 75LLF | 20LF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) = 7.5 0.9(1.1) — <0.5 0.12 0.010
58 == 8.3 7.6 1.1 - <0.5 0.10 0.006
hE - - - - - - -
78 == 8.3 7.4 0.7 - <0.5 0.10 0.005
hE - - - - - - -
oF == 8.3 6.6 1.1 - <0.5 0.08 0.009
hE - - - - - - -
118 == 8.0 7.3 0.9 - <0.5 0.14 0.009
hE - - - - - - -
1A == 8.2 7.7 0.5 - <0.5 0.12 0.014
hE - - - - - - -
3H == 8.1 8.1 0.9 - <0.5 0.17 0.018
e - - - - - - -
BEIEE (REDHEHAD
NP INESS S o) ANfivoL| ME #ikeE |7ZrxikE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
oani| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R - - - - - - - -




Tr>980(1,3-5n = YN ~ TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| EL{E] 0.01LLF | 000280 F | 0.006LLF | 0.003LLTF [ 0.02LLF | 0.01LLF | 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9A8 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
EDHIEE
Jz/—L| ss 2mR |soofns| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - i - - -
RE - - <1 - - -
e e s et s
=] _ — 1 — — —
7ﬁ ;E _ _ _ _ _ —
z - - < - - -
S e s et s e
z - - < - - -
P - e s
= - - < - - -
1 e e e s
z - - < - - -
3R g — — - — — —
alch | BEEE | ommne
(mg/1) (mg/1) (mg/1)
ESIE] 18000 - 0.01
58 =B 19000 - <0.01
= 19000 - <0.01
= 18000 - -
9R ; E — - —
= 18000 - <0.01
1A th — — —
18 =B 18000 - 0.01
= 18000 - -
3R g — — —




